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5026 

(For Scheme I Candidates Only ) 

Second Year Higher Secondary Examination 
Part- Ill 

ECONOMICS 
Maximum : 80 Scores 

Genera/Instructions to Candidates : 

Time : 2112 Hours 
Cool off time : 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2Y2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool off time'. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
$ Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 

' m1roCl<3Cf06m300 : 

• mlffi<3lns:Js ffi)DJC:QJ(]'r0)1m nJ606)DJ 15 m1m1rj' 'cf:bJcf6 630n..Ou 6)6)So' ~6YYSomllro1cfr6)6o. §2"0 

ffi)DJ cw®O) Cll..2J o B j 6m3 cJ6 ax;) ~(]'rO)COo %Y:?6 cmoCJlmo, OJffi~OJ C060J o mll ar@ (I() CQJ CLf1 m1 m C:QJo 

ffiS(]'rO)Q(]ffiQ nJOSl~. 

• ~(]'rO)C06m3cf6 o{j) '96 @6 rrncm1 m ffi6 mJ <Z..2JOB j6mcf6 f@>BD::lnJJ &()do OJ::JmJlcfr6)6mo. 

• o{j)~ ::J C8..2J::J B j615Bcf6cfr6)6 o ~(]'rO)COo o{j) '96 (l))6ffio. 

• 63C06 C8..2J ::JB j m ffiJ ro ~(]'rO)C06) OJ'-96 cmocfb 6) (l))C06)6Wr'm 56 (]'r0)6 cf:b ~ EiWrm ::J Cll'6 ~o.J C8..2J ::JB j Elm~ o 

mmcgcm C8..2J ::JB j m mJ ro1 Cll'6 m1cm" cm61on 6)(l))C06)6WI1l)S6 C8cfr6)6fi'S(l))::J6ffi. 

• cf:b6m~ cf:bJ§el6cf:bcJ6, ..n...fllcm615Bcf6, l(J)::ln..06cf:bcf6, o{j)OTI10J ~®IT>COC8nJ<Jj01Cll'6 (l))6)0TI 

~ 6YYS::J<Wl ro1 cfr6)6ffio. 

• ar@OJ (II) j0J6~~ mill eJ ~ ffi)DJOJ ::Jcf:b j6mcf6 6)cf:b::l56cfr6)6ffio. 

• C8..2J o B j615Bcf6 DJeJ wo ~(]'r0)1 eJ6 o m Cll'6cful cn51 31, Ei'f'@. 

• C8lo.J 8 l(J)8 DJ6cf:bcf6 6)..2J~omocf:bo(]'r0) <i:b::Jco'6cfr6)6C8eJR06cf:bcf6 63~6)cf:b(:Q)6~ 63ro6 

§2 eJ(] l ~::l6m1cfu' ~nJcf:b(O 6m0J6 0 nJ roidhl::I::JoD::Jgl Cll'6 ~nJ (] C:QJ:)CJ)l cfr6)60J ::lcro nJ 851~. 
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ScoREs 
1. In a centrally planned economy all 

important decisions regarding 
production, exchange and 
consumption are taken by 

a) The Government 

b) The Market 

c) Either of (a) and (b) 

d) The Central Bank (1} 

2. Classify the following under the 
heads micro and macro economics . 

a) Govt. regulation s on auto 
emissions 

b) Price elasticity of refrigerators 

c) A family's decision about how 
much income to save 

d) The impact of higher National 
Savings on Economic Growth (2} 

3. Usually a budget line slopes 
downwards from left to right. State 
any three reasons for the downward 
slope of the budget line. (3} 

4. A typical production possibility 
curve is shown below. Define PPC, 
what does the points 'H ' and 'L' in 
the diagram implies. 

y~ 
. :tL 

ct"'~ y. ~ H "\ 

\\ (3} 

1) --·------~-----\.-~ 

(J~t}·'f ">t:.......... ?l 
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ScoRES 

1. <8cmlm"'~cm ffi'@>ffi)~l®6TD rruooJ1w~mo 
m1 eJ m1 nfnc006 em rrum.J 8 ru jru <TUDCQ51 nm 
~e.rQJ~Bmo , o.J1®ffi6TDo , ~QJ<8(5~({)o 
®6S615B1cwru6>cw c:m6o1~~ ®lm6m~m 
615BciD OffiS6 c006 em® 

a) (gcfu l m ({) ru Ei'riO 6) m cmo 6lT) 
b) cm<8m.J O§ ru j ru <TUDm.>o6TT) 
c) 'a' <8CWO 'b' <8cw~ ffi'@>6TT) 
d) <8cfulffi 6D.JOffu06lT) (1) 

2. @~6)1j> 6)c£hJ56(6'(0)1§6~QJ6)(Q) ffi)~c£h9juQJ 

cm o mJ (010)1 cfu mol rw o , ffiillJe..I rruo mJ 
(0!0)1ce., m~Lrwo owrrn160B6>m cmroorn51m1 
c006cfu. 

a) meflm"'cfuro6TDo cmscw6rrncm1m6§§ 
rru roc00oro m1 w l mn6TD615BciD . 

b) (/()l®lcfuffi6TD1cfu~6)5 oJ1e.J 
gQe.!Oo;J?1cfu®. 

C) rrum.J OB j6>(0!0) rruo6D.J<ru5Lgi 63ffi6 
cfu2,S2,o6YlJ(OT0)16>~ ®lffi6ffi~mo. 

d) ~wrocm ru§ffi~o m1mc0016>m 
~wrorrn <8Bmicw rrum.J~Bjo 
Offi615B6>ffi 6D.JOW1c006ffil6 ? (2) 

3. rru ow~ ro 6TD ({) cm1 m5l nm 6QJ g!6 8 6) 6) e..1 rro 
gQS(OTO)c!, m1 ffil6 o ru eJ <8(QTO)c£76) ..!l.l m16l'OYO') 
cfu06TD6>~S6ffil6. gQrn51m6§§ <1@6l®ffule.J6o 
Ql~ml cfuOffi6TD615BcJD Offilf6®6cfu . (3) 

4. cmo6>1f 6>cfuos6m~ ~lcm~nm 63ro~ 
~eJQJOBm ~OWj®OOJLcfuo cfu~6rr5L.g,Jl 
COic006ffil6. ~e.nJOBm rru~j®O ru~ 
m1ro~..!l.J1c006cm. _a_11Lcm(OT0)1nm 'H' , 'L' 
O{j) rrni 6DJl ffi6 c£}6) em O{j)(l1))~6lT) mmro®.O 
mo,cm®? 

~L 
~l:Q.iO~ \J. '\ 
J I '/{ H "' 
~- ~\ 

·-o 7-

(3) 

·:X 
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ScoREs 

S. V\fhen there was a. 4% decrease in 

the price of a good, the expenditure 

On the "'00~ ''"'~"'t·eo,-.a~ b't no; Vl'nat . ~ ~ · · v J d iv. -v~·.:; c;v: j C:.. 10 . ,, 'J i f... 

can you say about the elasticity of 

demand ? (3) 

6. VVri'i:e down and explain the three 

identities of calculating the GOP of 

a country by th ree methods. Also 

explain why each of these should 

give us the same value of GOP. (8) 

7. Differentiate the terms short run 

and long run. (2) 

8 . Rajeev is a prt:)ducer of consumer 

durables in Kera!a. He is trying to 

increase hi s tota l o utp ut by 

Hovv changes over 

time as !1e adds more and more 

un!ts of labour input? Provide your 

suQgessions to him with the help · 

(8) 

ScoRES 
5. 63(()6 CTU8Wffi((51'0)16)~ OJ1eJ 4% cfb60 

mcgc;{::Pc.0 ®O®l ffi>cgmeJ6~ 6)Q}8((51'0)o 

.DJ1eJo1 2% OJCOBDL~®8W1 cfb61YS6. 

CTU8WmCM05161~ OJ1eJ g:QeJ8CW1cfb®61W 

cfb601~u m160BcJZ>cm;) o.ffimD6 nJOCW6 

OJ8ffi> CTU8Wlc006o ? (3) 

6. 63 (()6 (():) ~j ((51'0)16)~ 6) Q} :)(010) ((f@J(5 j m!J(O 

~ eJU nJ ffi) o cfb 61 6ll'5 ((51'0) 6 em ®1 m 6 ~ 
Q}~ (ffiu Q} J (0 ca 60B c.0 oJl OJ col cOO 6 cfb . 

cfb~S861® mJrrn6 m8COC&60BOO ~nJC8W8 

Cf)l ~6 cfb 61 sns ((51'0)1 w G D P w 6 6) s 

Q}~eJjo 63m16COl6)(ffi(Q)8CW1C01c008ffi6~ 

cfb8C06TDo 0JJCJOB"lcfbCOJc006cfb . (8) 

7. n.q)CTUJ cfb8eJCQ!~oJ, BlCOneJ cfb8eJCW~oJ 

g;Q OJ 6) G)) (0):)(0 (Q) Q}j 0 6).DJ Clli6 cfb. ( 2) 

8. <2ctnm~m6)eJ ®OmDlm ~nJ(g@:)Cf)OJCW6 

cOOcJZ> m1ffiam1c006Cffi 63(06 ~eJunJ8Bcfb 

ffi:)61T)' (():)~oJ'. ®0C8<3nDo (0)6)~ ~eJunJ:) 

Bcfbn.eJ Scfb60Bgl aiTl 636)CO~o Q18L®o 

d.7J~S6COleJ 8cuJl ~nJ C8CW8Cf)1~6)cfb86'f'@ 

~eJnJ8Bmo cfb~§8<f6 @m1c006cfbCW861Tl. 

cru8cru (0'(0)1cfb CJ08LCW((51'0)161e.t nB3®6 

m1m> millo@ §D®161m LnJ®1mlw8mo c _ 

61.DJClli6 em® ? 61®8':?lw'OCJOo m8L®o 

cfuJS6COleJ8cuJl ~nJ <8 CW8Cf)1c006C8m.J8c.0 

6) Q) J (]'® 0 ~ eJV nJ J B m (OI"'')J am om (Q) 6 
ffil®lm51eJ6~ m8Rm861Tl ~sns80J6cfb ? 
.DJ1 L COl (0'(0)1 61 ~ CTU on 8 w <8 ((51'0) 8 61 s 

®0<8<3oD~cD ffil60T3~6)S ffilf0<8<3C!Oo 

(8) 



SCORES 

9. The following table gives the 

average product schedule of labour. 

Find the total product and marginal 

product schedules. It is given that 

the total product is zero at zero 

level of labour employment. 

Units of Average Product 
TP MP 

Labour of Labour 

1 2 

2 3 

3 4 (5} 

4 4.25 

5 4 

10. Read the following statements : 

5026 

a) Both demand and supply 

curves shift in the same 

direction. 

b) Demand and supply curves 

shift in the opposite direction. 

What will be the effect on equilibrium 

quantity and price in these 

situations ? (5} 

-4-
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SCORES 

9. @06)l:f' @cfK>S6 (010)1 r6l cOOJ/ffi nJ§l cfbCQ)l am 

@@O~eJOglcfb§l@S CRJ<OOUM01 ~e.JunJO 

B m o cfb o 6m1-3Jl m1 c006 cm 6. 6) m o (010) o 

~eJo.JoBmo cruimo(l()) ~e.rnJoBmo 

ntD cm1 ru cfb 6) 6YY5 (010)6 cfb. 6) ((5) o ~ eJ o ~1 

cfb§l@S ntj)~O nJJ~jO <m])mJl<01cOOJ, 

C8mJOcJ0 @illO(OTO)o ~eJnJOBffiCL!Jp nJJ~jo 

<m])W1 cfb6fficOOOoo cw1 c61c006 cm6. 

Units of Average Product 
TP MP 

Labour of Labour 

1 2 

2 3 

3 4 

4 4.25 

5 4 

(5} 

10. @O@lf' @cfbOS6(0'!0)1m1cOOJ,cm LnJo;}?OOJm 

cfbcf6 ruocw1c006cfb : 

a) C8..2..l::>Bm LnJBom OJLcfb60Bc.iO 63C8<0 

Blwm5lam oS:11n.OFJ (shift) 6)..2J~cm6. 

b) C8..2..lOBffiOJLcfbCl.J6o LnJBOffiOJlcfbClJ6o 

ntj)@lfOB1CRJcfbglam o.9:flo..OuRu (Shift) 

6)..2..]~ffi)6· 

gQ 'D cru o n.o ..2..1 m J (010)1 am cru o ((5) 6 en ((5) 

oJleJ, cruo@J,e1l@ ®1>~o1 (equilibrium 
price and quantity) gQOJ~ ntl)(l())6 

cruoBOJ1cOOJ,o ? (5) 
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SCORES 

11 . Suppose you are visiting a 
Commercial Bank as a part of your 
study. Prepare a field visit report 
by highlighting the important 
functions of a Commercial Bank. (4) 

12. Explain why the demand curve 

facing a firm under monopolistic 

competition is negatively sloped. (2) 

13. MPC + MPS = 

a) 0 
b) 1 

c) >1 

d) <1 (1) 

14. Assume that there is a perfectly 

competitive market for wheat. Can 

you state the important featu res of 

this market ? (2) 

15. "If all the people of the economy 

increase the proportion of income 

they save the total value of savings 

5026 

in the economy will not increase -

it will either decline or remain 

unchanged". Explain. Also give the 

term used to refer this situation. (3) 

-5-

ScoREs 
11. m160B~8s o.JOm (O'f0)18~ cs0Wm0w1 

m160Bcfb 63ffi6 OJ06fT5lg;'6c_)6ill0cfu' emm&cro1 

cOOJ, CTTlc!, 6)0J(i'() o.Jl_Qj:)(()1 cOOJ, ce:, . OJ06ffil g;'ilc_) 

6ill0ffhc!, c£b§68 S Lo.JW0ffi8<Jj§ Wffi liiil 

60136)~ ~cfD6)c000~-3J?,6)c£b061YSJ,~ 63ffic!, 

o.Jom o1 (g<Jj0&§ ®~000cOOJ,c£b . (4) 

12. ce:,6 (O'fO)cfb m (lffi)(() ce:, (gmJ 0~ (()'®1 am L nJ ru & 

con5SlcOOJ,CTn 63ffic!, ~eJo.J0Gm WJ6TD1A mrocsl 

illJ,621lcfur6lc006CTTJ <g_QJQBffiOJLc£bo ®Q<g':l'c&6} 

_Djffilm6 OJffiJ,cm® O{D()'Q)6 6)ce:,:)6"1@? (2) 

13. MPC + MPS = 
a) 0 
b) 1 

c) >1 

d) <1 (1) 

14. (g(f):)®m.flmu 63ffic!, o.J4ffi~QJ(lffi)(() 

cfu(gmJ:)~o m12J m1e.rcOOJ,CTTlc!,6)0J ffi)u 

emrn:,am<J:J1 cOOJ, c£b. gQ'D c&.,cgcru 0~con5S16)~ 

Lo.JW0m cnxl.Jl<gCJOQS1®ce:,cib nB)8()'Q)~Jo ? 

(2) 

15. emmJ8une.Jsmw18eJ ntl)~00Jffi6o ®6013 

§6 6) s em cru 0 B J o ~ w & (01(5)6 ce:, w 0 6) 6m 

ffh 1 am em mJ 8u neJ s m m5)6) 2J 6) QJ J (01(5) 0 

emmJ08c_)®TI)18~ ffiJ2ljo ~CQJffiJ,cfb1~ -

mo'L8::f gQ®u ®OC8®o.Js1 m1e.Jm1e.Juc006 

c£bC8CQJ0 c£bJ,OWJ,cfbC8CQJ0 6)_QJ~o". o.JlcroBl 

cfuffi1cOOc!,c£b. gQ'D ®OOJCTUD~ em0m.Jcon5Slcfu 

CJ08Lo;}{con5Sl am ~o.JC8W8W1cOOJ, em emo@O® 

(3) 



SCORES 

16. Suppose the central Govt. 

sanctioned Rs. 2 crore each to 

5 states for making additional 

investments. The MPC of these 

5 states are given below. Find 

multiplier and mulitiplier effect. (5) 

Multiplier 

States MPC Multiplier effect on 
income 

!--· 

Kerala 0.8 

MP 0.7 

TN 0.6 

I Assam 0.5 

l_~ir1ar 1 0.4 

i 7. Find out the maximum possible 
output for a firm with zero (0) units 
of labour and 1 0 units of capital 
when production function is 
Q = 5L + 2K. (1) 

i 8- Suppose there is no money in our 
economy . Then how will the 
exchange of goods and services 
takes place ? State important 
difficulties of such a situation. (3) 

19. Distinguish between the terms 
stock and flow . Between net 
investment and capital which is a 
stock and which is a flow ? (3) 

5026 -6~ 
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ScoRES 
1 6. mw w1 ca m1 G cfu91 n.J (OT0)1 m 0 cw1 <E cB:ll m 

wru 6l'"'iO 6'J m ~ 5 cm o cmo 0 m 615T3 cRl c.%)~ 
ffi61@6 <Eca8Sl m~n.J8rukmo m~cmJ,6lrurrn 
cmat.> eJoJ1c.%)J,cB:l. [Q"D cmocmo8m60Bg18PJ 
M PC @86)1:? n.JOCWJ,O ln.JcB:l8ffiQ)8 6ffiw 

[QcnSlffi'n rfslm'go mc:Rl§l6lg.dci2Jffi (multiplier) 
mc:Rl§16'Jg.dCWffi [Qn.O~s (mulitiplier 

effect) omm (lJ cf3:l6)6I@(OTO)J, <fu. ( 5) 

Multiplier 

States MPC Multipl ier effect on 
income 

Kerala 0.8 

MP 0.7 

TN 0.6 

Assam 0.5 

Bihar 0.4 
-

17. ~~8BcB:l CW~6TD1816'J~ 6'Jln.J8(U)cBftlcW 
n.nomn9::1cm Q = SL + 2K ffi'©CW1r6lc:OOJ, 
<EmJ8c:Rl '0' cw ~ 6TT5l R 6)@81jS] en'?> CJOO CWJ, 0 

1 0 W~611'SlR ~~WffiillJp ~n.J<8CQ>8(f)6)~ 
SJ, (OT0)1 m1 CD 0Ill c:008 em caljS] CQ> J, ffi)n.J ffi Q) 8 
ruu5l ~eJn.Jrmo nti)l®6'Jcwrrr)' <fh61@J,nJ1Sl 
c:OOJ,<fu. (1) 

18. ffiaiDJ,6lS ffi)ffiJBvilljillcnlOmfl«.f& n.J6ffio 
[Q6'J~rrr)' cmffi:>e.l'oJ1c:OOJ,cB:l. [Q"D m-rorucru.o 
m5l en'?> em 0 w m <E cm rum 615T3 ~ 6'J s 6'J 61cfu 

l1l88o oti)615T36'Jm <llJ 8 Wjffi8~fu61m6 ? 
[Q (OTO)ffi (OT0)1 e.JJ,~ oJ1 m1 m w mo516'J~ 
<8n.J8ffi8GJ?<fu00 ntj)6lmD~~po ? (3) 

19. '<EffipcB€)' 'csct,EP' %Jrm1ru6'Jcw M8m®mj 
6'J~SJ,(OT0)1 0Jj®j8ffi)61JB00 nti)I:PJ,CQ)J,<fu. 
mwR m1<Ecfu91n.J(net investment) m~e.J 
w m o ( c a p i t a I ) o.G) cm1 ru CQJ1 ro'] 

c.!ffi®86ffi' <8Q;B8c00'? ClfB®86ffi C&MJ;) ? (3) 
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ScoREs 
20. Complete the following equations 

using the following terms. 

Revenue expenditure , Total 
expenditure, Net interest liabilities, 
Non-debt creating capital receipts, 
net borrowings 

a) Revenue deficit = 
___ (-)Revenue receipts 

b) Fiscal deficit = 
Total expenditure- (Revenue 
receipts+ ) 

c) Primary deficit = 
Gross fiscal deficit- (3) 

21. State whether the following 
statements are true or false. 

a) The Government imposed 
upper limit on the price of a good 
or service is called price floor. 

b) The demand curve is elastic 
when marginal revenue has 
a negative value. (2) 

22. Match the following : 

5026 

A B 
Perfect competition 

Monopoly 

Oligopoly 

Duopoly 

Two sellers 

A few sellers 

Only one seller 

Large number . 

of sellers (4) 

-7-

Scor-1Es 
20. ® J 6l':P ®m-nffilct7uWTO n .. .JB6013Gtzl ,g2n-.i 

I]CQ)JU)l..DJ ffi)QlOJOcEb \6t5'8cf0 rLJlf06TJ)I1l0 .· 
:::zJ v t") 611) 

c006cfb. 
@OO.l m J,~ n(J)cr'i'm)n.J c"tSI-'.:3JD ; 6!ffi0Co®o 

6) _0_J e.1 oJ 1 r.B~ cJO ; 61 m ~.~~· 6.:0 cfo o c o·J' 6 t. J ~ \) (} .. ; 

6) 6) eJ 6DJ ell Rl ffi)u) I] en:) 6nD 6) CtO Gr.Li'0f 
Lcfulcg('Q)Rrlo60TI <fr>JrJlR. (00 6lOrn31oJd'm), 

n...J \ I 

6)CTJR C86TlJJ<ZOJClJ1ou)m). 

a) 6)00JCTJJJ, 6)CUJn..o1mJ1R = 
________ ( -) 6/0ClJCfljJ 

6locmlo.J8mr 

b) oJ)l mrcm)afll @CtOC1.i:51 crt518 = 

6) m o (oil)) o ...:211 eJ oJ - · ( 6)00J m JJ 
6/0m>"lo.lffm>" + ________ _) 

c) 6l6lLo.Jmc5l 6lOJJru5lm)lF} = OlLW:xn) 
ru5lrrud3-6;w"o 6)C'JJoJ.11cn.5lt=}' --- _____ (3) 

21 . ®06>':9 6lcfb0Sl(Qlo5JffilcB-t5!0lmJ ~i.....I<T\.)J('LJffi 
0 fin 

cmcJO cromlmcwo 6>CIDC2RD 0..q;m> o.Jall<ZUDD 
u5l d3-6J6 cfu' 

a) mcL.J6if06lm<m ot-J]@@tful2J6o rrmwm 
(OIO/l6lcm <]mJO I] \(lJ OJ m (ol75)16lt~ (]('Q)J 

" u ·:)_ .... , (] r; 
OJieJ~ ~CDXiK(f) \L! (i.); CJ Clfj3(06liliS6 

,.., r 
®()) 6 rrn @ 1 6'> m @ o 0 .. 1 i e.1 o.{j) rm 6 
\LJO<WJpn.;. 

b) rru'l QJ J (TO) O.J (06£1) ::.HTJO 6")ffi (J) (Jl OJ 
((f(Q; cfu 6 cg m..J 8 ci6 G5 _QJ C:3 m OJ L c8:> o 

mm w1 cBJ f.0 eJ 8 crJil ro.lCOi CQ) 6 ~ 
® ::> m5lco1 cit6W>. ( 2) 

22. <8.!2Jffi2_,ooJS1 (].!2JC0cB£)};cB) : 

A B 
o.JJfO~mcorucoo 

cfu6(00)cfu 
,, 

ct-Jj((JXJm,~o ..!J.Jie.J 

@~"j ~' n ,;.:)) (b 
63(fl(() 63 (02, 

~ eJ'n.J ~) G o..%rr'O 
CUJ~<80J86)nJ::>g1 O.l§@CO ctYJ~SJ.,COlrr/6 

~eJo_.! Clsc£bf6 (4) 



ScoREs 
23. The rate of interest 'r 0 ' in the 

following figure indicates 
a) Speculative rate 
b) Real interest 
c) Liquidity trap 
d) Liquidity preference 

(1) 

- ·--·-- ·-.. ·-···-·· .. ____ __,.).. 
~ ?c 

24. Distinguish between the nominal 
exchange rate and the real 
exchange rate. If you were to 
. decide whether to buy domestic 
goods or fore;gn goods, which rate 
would be more relevant? (3) 

25. Differentiate between devaluation 
and depreciation. (2) 

26. If 'GOP' stands for nominal GDP 
and 'gdp' stands for real GOP, then 

5026 

GOP Deflator= 

.. gdp 
a) GOP 

GOP 
b) gdp 

GOP 
c) gdp x100 

d) .None of the above (1) 

·8· 
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ScoREs 

23. <m:; 6119 61 cfb:J 56 W®1 ro1 cBtl)6 ffi) -2..l1l® 
W®161e.J 'r o' %) (ffi nJ eJl crom1 fficBtl)v 
cfb:J6115l cBtl)6 (ffi ®' 

a) m5'61oJcfb~(geJRJo.J ego A 
b) o1wm?J §2cmogB' 
c) e11cfb~ru.51R1LS:J(;t::l 
d) e11cfb~M1R1LoJ1nllocfOcruv 

. ctt · 
~ '\ ~ . 
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(1) 

• ---.. - ·---·-· ... ______ ,..,. 
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24. cgm:;m1mm?J %Jcfu'cg-2J6'®J cgoA olw~ 
%} dh ~_Qj 6'@2J ~ 0 Rv gQ OJ (()H!ILil2J6 ~~ 
OJj<mj:Jffi)o Offi<llrl' ? m16mcro ru1 <EBCJO 
m1roi2l1l1<m cru:;wm6mc!O OJ:J6m CE 6ffi :J 
m.lj(EBCJO ffilffii2l1l1® m.l:JWffi6mcfD OJ:J60B 
(g6ffi:J %J0D6 ®lro6m:;mlcBtl)6rrrxm 0..tJ3® 
(g0RJ6)cm mroSlm.ill:JmW:UJleJ:Jom ? {3) 

25. cwl OJ:; eJ ~ cg ru nS:HiD , cwll oJl cru1 <Ecwns-J cfO 
Offi0DI oJ B615l3 cJO 61cfb:J6'J"@' mroro®O m:; 
cBtl)6ffi)@ %)<1lrl'? (2) 

26. 'GOP' %)em® m:;mm:JL<m (nominal) 
ffi"@e5jmr>ro @eJoJcm61W®CW6o 'gdp' 
WLO:Jffi®O (real) ffi'@e5jmDffi ~etnJcm 
~W® CQ) 6 0 cfb:J 6TD1 cBtl)6 cfb CQ) J 6) 6fi) 83,1 ~ 

(3PPru5l~~Rro = ®Q)6JT). 

gdp GDP 
a) GDP b) gdp 

GOP 
c) --x100 

gdp 
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